0 Math Review

Tuesday, January 21, 2025 12:31 PM

· Counting and sums:

Problem:

Generalizing=

$$1 + 2 + 3 + 4 + ...(n-2) + (n-1) + n = S$$

 $1 + (n-1) + (n-2) + (n-3) + + 2 + 1 = S$

$$N \cdot (n+1) = 2 \cdot S$$

$$S = \underbrace{N \cdot (n+1)}_{2}$$

$$1 + 2 + 3 + 4 + \dots = \sum_{i=1}^{n} i = \frac{n \cdot (n+1)}{2} \approx \frac{1}{2} n^{2}$$

Other important sums:

•
$$\sum_{i=1}^{n} 1 = 1 + 1 + 1 + 1 + 1 + 1 = v - l + 1$$

$$\sum_{i=1}^{N} 1 = N$$

•
$$\sum_{i=1}^{n} i^2 = 1^2 + 2^2 + 3^2 + ... + n^2 = \frac{n(n+1)(2n+1)}{6} \approx \frac{1}{3}n^3$$

$$\sum_{i=0}^{n} a^{i} = a^{0} + a^{1} + a^{2} + \dots + a^{n} = \underbrace{a^{n+1} - 1}_{a-1}$$

$$0 \sum_{i=0}^{N} 2^{i} = 2^{N+2} - 1$$

Sum Manipulation:

$$\sum_{i=l}^{v} (a_i + b_i) = \sum_{i=l}^{v} a_i + \sum_{i=l}^{v} b_i$$

$$\begin{array}{cccc}
\bullet & \sum a_i & = & \sum a_i & + & \sum \\
i & = & i & = & i & = & m+1
\end{array}$$

$$\sum_{i=l}^{r} (a_i - a_{i-1}) = a_0 - a_{l-1}$$

logarithms.

•
$$x = a^k$$
 $\log_a x = k$

•
$$\log_a x = \frac{\log_b x}{\log_b a} = \log_a b \cdot \log_b x$$